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Conifer ,i3,5 (D) Lady Finger (JSke (C) Keekar & (B) Tomato ¥ (A)
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Note : Four possible choices A,B,C,D to each question are given. Which cholce is correct , fill that circle in front of that question
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question,
& B
A thick Mu¥pylar Structure beneath the Lungs is called : 4".(’.‘(«(‘( £ esL M Jr S {-.-LU’Z‘!' 1/
Epicardium (S§(§/ (D) Pericardium (£5L6§s (C) Peritoneum (“75 (B) Diaphragm (A3 (A) 1)
What do some boned produce : Y 1Y ks e 2)
Oxygen =X (D) Blood Cells X% (C) Hormones v/ (B) Mucous  /z (A)
The number of Pairs of Ciynial Nerves in human is : ‘g&w P L,( Uiz 2808 A bt (3)
31 (D) 26 (@ 12 (B 10 (A

Which Plant removes Resins as wakte : b g U6 ol arbu¥ s B A of 4

Yeast reproduces by

q..g’zi(cf‘r!:,;u(_):e%

©)

Genotype  Ft5# (D) Homozygous ‘f-&um C) Karyotype .;/I‘:.g[ (B) Phenotype 7t (A)

Budding 4 (B) Binary Fission < sy (A)
Fragmentation 3 (D) Multiple Fission W JL:‘L )
The Specific combination of Genes in an Individual is called : : %.t‘!lz/ u’:(,(( gf/ S/J..:o-u‘: 3} ;.{5 (6)

Guanine always pairs with : \ - ﬁ'_dh 1% X4 uflf

Uracil 74 (D) Thymine 0¥ (C) Adenind, £$ll (B) Cytosine 2% (A)

)

The Third Whorl of Flower is called : - b ‘/..f 26 JA
Androecium (-3/1‘;' (B) GyRoecium ﬁ&b’ (A)
Calyx e d (D) Corol S (©)

®)

The Primary Source of Energy for all Ecosystems is the : P WO Y S 2L ot o1 £V

Moon g (D)  Sun u (O Star \wb- (B) Soil (¢ (A)

©)

Who discovered Penicillin ;J = L.‘/ ey
LEE (A)

: u'kfik Q)

Joseph Lister Az (B) Alexander Flemming

Edward Jenner /isi! (D) Charles Darwin

(10)

Which Enzyme is used to Dissolve Blood Clots : : q_.lmdlr:“ f""j'." Vc}/ & o 9 S u:ﬂ Z T4

Thyroxin u’q/é(; (D) Insulin A (C) Urokinase '/.'(5564 (B) Thymosin Y+ (A)

(1)

5 5
Which is the Abiotic Component of the Ecosystem : : ‘Luf 12 XE eI ¥ f'/ £

Oxygen J"'IT (D) Carnivore m&zb’ (C) Herbivore m(}/: (B) Producer 25¢ (A)

(12)
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Note : It is compulsory to attempt (5-5) parts each from Q.No. 2, Q.No.3 and Q.No.4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

l 30 = 2x 15' Make Diagram where necessary. _u:’lszngfﬁ/’ulg (Partl) Jilo

Z -
Why is Larynx called Sound Box? Setbld ud et A ) 2/5,'
What is Pneumonia ? Write its causes. _é.‘fd Y] J J S Q’ T (1))
Write two effects of Smoking on Circulatory System. _é:.’a =12 9 £ ("/ df' r L G- (iii)
What is Thermoregulation ? Write its importance. -2‘.?0 aﬁ’p(u'l < Lf ﬂ:ﬁr/" (iv)

What is Hilus? e Y )

Differentiate between Sensory Neurons and Motor Neurons. ..’:f:r_,/f J/ Huk 2y sl it (vi)
What are Meninges ? Describe their function. -éug K St gf e s (vii)

e ‘}b‘; l‘r &b ét: ¥ =l (viii)
et § pB1§ SIAT ) 340w
S U 238 (i)
-Eedl mE s § L (i)
et PSP ()
?‘g;yg{fc}gswm }A_J!MQJJ:) v)
What is meant by Dominant Alleles and Recessive Alleles?

What is the relation of Vision with Brain ?
Enlist the types of Arthritis.

What is Gout?

Define Budding and give one example.

What is Alternation of Generation ?

Differentiate between Natural Selection and Artificial Selection. -é ut,.&) e 5&;(5’}"" »l SC;J/A? (vi)

What is Monohybrid Cross ? Setor ' UL A (vii)

s § M i
‘e e AL G0) 44Uy

ut Lo\ S i)

Telpe o raSd 58 (i)

Narrate the kinds of Interactions in Ecosystem. -éug.ru“f S ess S 351 (iv)

el e 5utY SN (v)

Tt 1 j2a )3 (vi)

e e e pausy (vil)

S Ot U oo (S I8 (vl

Define Translation.

What is meant by Biosphere ?
What are Ecological Pyramids ?
What is meant by Nitrification ?

What is meant by Glycolysis ?
What is a Fermenter?
What is meant by Vaccines ?

What are Analgesics Drugs?

18=2x9

(Part Il) (o

-éug;d:“f)’(u”u:uw () 5,41
Describe the Mgchanism of Breathing in Humans in detail.

4 =1+1+1+1 -eg.‘d{ru'ﬁd/wmébyj"({@;jr(?)

G) =1+2+2

Define Cartildge and write a note on its types.

G) =4+1 i L eh L e AN 6
What is/Endocrine System ? Write about Pituatory Gland.

@ =2+ “Esf WS D)L s, s 5 s UF Uy (&)

Wrife advantages and disadvantages of Vegetative Propagation in Plants.

6) =A+1 L s L Eyf § LG () 7
efine Genetic Engineering and describe its four objectives.

Explain Antibiotic Resistan ol § e2ipe diw L u"@"!,g?-l oy
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number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
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The s\bstances used for the treatment , cure, prevention or diagnosis are called : 1)
Medicing] Drugs :«gul@ (D) Hallucinogens }?id'}.:l (C) Sedatives J%i~ (B) Narcotics u“”lt (A)
Which is effective against Brain and Lung Cancer : P 2 4 /‘-’-( L u:*/,‘.’; 2 f/b ufc.u:u' 2)
Beta Endorphin 0% (D) Thymosin _- ,ousef@f (C) Vaccine g% (B) Insulin s (A)

Conversion of Anmnonia into Nitrates is called : D & JU[ J".i - J‘:/"t J gt (3)
Assimilation s __gaew) (B) Nitrogen Fixation - yAesd - jom g 550 (A)

Nitrification S 5 56 (D) Denitrification J&J\sﬂb\sa (Q)
ulel izt f B § Aft e LKL @

Which form of Nitrogen\is taken by the producers of the Ecosystem :
Nitrites £t (D) Nitrhtes J:"/"t (C©) Ammonia g» (B) Nitrogen Gas ‘/fu;!,/‘-’t A
0N ptanS ¥ ¢ ST LAk 19 g AADD 252 § sy L1 (5)

How many genetically different\ kinds of Gametes can be produced by an Individual with

Genotype AAbb : 4 @ 3 @© 2 B 1 AW

An Organism's expressed Physical Tyait is called : @ & Jl.l-p( e s Ln Vi J Mg LT (6)

Physical Type .(’td(r’ (D) Phenotyp .(‘b'! (@) Karyotypé V’t{;.'/ (B) Genotype <#t% (A)

Where the Sperms are produced inside the Testies : : ugi i Y L DSt (7) h
Seminiferous Tubules XU &= (B) Vas Deferens J'/'!Su'b (A) ‘

Collecting Duct (D) Sperm Duct g (©)

m PETTTI
Ferns reproduce by : S 4 ‘f(b,g./ - e & 2P (8)
(@ T

ubers Jz£ (B) Corms a5 (A)

Rhizomes ‘e 3531 (D) Bulbs

Longest Bone in our body is : P dé oj C—u/J ()z.zh 9)
Foot ( Uiy (D) Leg £t (O Thi Jou B Arm st (A)
A Coordination Action has components : S Py édl L gf:.‘ﬁﬂ:( (10)

6 O 5 (@W 4\ B 3 (A

Cacti are example of : SV, 89 -2 e (1)
Hydrophytes J uJé 62242y (B) Xerophytas J u"fli:_//' (A
Mesophytes u"‘flbx (D) Halophytes e u;‘,b):" Q)

Pneumonia is an Infection of : - S L (12)

Blood ( u# (D) Lungs & Ui (C) Heart J U (B) Kidneys g un/ (A
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Note : It is compulsory to attempt (5--5) parts each from Q.No.2, Q.No.3 and Q.No4 and attempt any (02)
questions from Part II. Write same Questions Number and its Part No. as given in the question paper.

l 30 = 2x15 Make Diagram where necessary. _u:/l‘atfynduﬁubg (Partl) L))'»"

Differentiate between Breathing and Respiration. -é 0% J/ o u"z ﬁ/ 2l Jw (i

What is meant by Voice Box? ?‘4)1/&’/ e =T,
Describe the effects of Passive Smoking,. -zf.fuy. el £ S
What is meant by Guttation? ’ ey Ve A (iv)
What is Lithotripsy ?
What are Effectors?
What are Saltatory Impulses ?
What is Night Blindness? S ekl § =i (i)
Differentiate between Movement and Locomotion. 2k J/’ o J‘/);’ sl &S7 (i) 3/‘)‘:'
Lok 0/ L Sh sl dd )l ()
i/ § umpsk (i)
7 S rniams s W)
s el W)
_ZEuk J‘:g/g.sn’,u ¥ Jar (vi)
o § S-S i
._.é:‘_’d Bus n £ et i)
e « AL () 44Uy
s § gy )
e Ly G
e G U2 58 8 @)

Differentiate between Cartilage and Bone. =
Define Endospores.

Define Oogenesis.

Define Nucleosomes.

State Mendel's Law of Segregation.
Define Co - dominance.

Write two sources of Variations.
What is meant by Trophic Level ?
Define Biomass.

What is Predation?

What is Eutrophication ?

Write the characteristics of Transgepic Animals. -é{i c«?y" J u;/itg.ff;/' v)
What is the function of Thymosipt Hormone? ‘.‘4_(5’ L[ ¥ unw,f’ ¥ (vi)
Define Synthetic Drugs. -éh.g/"’ d/ a&:;l&t (vii)
Write the usage of Antibiofic Drugs. -é,‘fq)b:“' ¥ /Cﬁ..ff LG"‘I (viii)
18= 2x9 (Part Il) f.2
(5) Describe the funftion of Kidney. ..éc)_l(. J” ¢ s () 540
@) = ine Arthritis and describe its Types. -’éuy. (U dut 2{_4!/7 g u"”T/’JT (<)
(5) Write a detil note on Spinal Cord. ‘ -’{:(./f" &]Jfﬁ { 5/((}’1/ () GKUIV

e i8 E aSasn s e d o (D

5) =174 gl (O St o FEf - nash (D) 7 A

4fine Fermentation and describe its types.

@ | ool § S b £ il 1 (D)

Explain the Principal Usage of important Medicinal Drugs. f
P e e




